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" The figures in the margin zndzoate full marks
, ;jz for the quesnons

: Anm;' five questxons, selectmg one from each Umt

UNIT—-I

"a) Dlstmguxsh between exphctt costs and
| 1mphc1t costs. .
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{b) Explain the ahapes of short-run and
~ long-run average cost curves with the e
help of dxagrams.) 43.4..3

Define the concepts of total rcvenue, A
avcragc revenue and marginal revenue. 4
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(3)

Compare between monopolistic 4 \J

19 competition and oligopoly. ” N
Distinguish between pure oligopoly and )

differentiated oligopoly.

Name the different market models ,

under oligopoly.

-

UNIT—IV

Discuss the limitations of Ricardian
theory of rent.

Explain the marginal productivity
theory of wages. 6

Distinguish between gross interest and

net interest. 2
Mention three limitations of Keynesian

theory of interest. 3
«profit is the reward for uncertainty

bearmg Explam 5

UNIT-——-V

\What\is ‘wclfare economics? 2
( -sttmguxsh between economic welfare

and socxal wclfare. 4
Explam thc concept of Bergson’s social

welfare function, 4
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